EARAROBEEIERT — 2 N— IBISH —F

2014558218 (k) 3EIFIRITE

IOl 3R sfh1 ~4—1

&t Y 7R3

‘ (%] ‘ [EsmEl  — | &4 (&) 17000 &

[AE4] 1 7% 400,000 @ ~ 23#%&:80,000 ™ ~ 37%:60,000"  43&:40,000 ™ 5 7 :20,000 M

WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
DAV KRY T4 # o3 | FEEA 1:53.3 6-6-4-4 [39.8| — | 1 | 480 ;‘z;i%;:ﬁﬂ ()
L:TAWRT Y2 BN T—ILRFT A= ' = -2 ng [EGIN
5555 40— # 3 5%—5&%*31 1:53.4 4-4-4-2 [39.9| — | 2 | 440 ﬂéﬁ;ﬂ (At7z:8)
. 1/2 »
QTP ERFA 9IS B ITHyFa— (72 6 | Smms
TS5y RFLLY # o3 g’é#ﬁﬁiﬂ 1:53.5 7-71-7-7 | 39.5| — | 5 | 462 %;ﬁ%é (It 58)
. 7E
QT AT FAF—XH BiAT bTa—A— e 2 | pagy gsm
= e — s e BT 1:53.8 3-3-3-2 | 40.5| — 4 440 | KRR (L&)
IFEF=JOrR 3| B8
o (a1 1/2) REEETF
R:T5y I8 E By E—iSLy b 8 =1
e e 4 3 | WTHH 1:53.9 4-5-6-6 |40.2| — 3 438 | RERR (dtimiE)
:| \)th I~/_d‘ . » 54.0 1/2) (4 | UB) EHkHS
Rix>ingao— B:vHHULy Ezdie]
S N— T 4 3 | MRERIESE 1:54.0 1-1-1-1 | 40.9| — 7 426 | MEEM (dtiEE)
6155 Y2 /71N —=2X 54.0 1/2 3 IABAEZ
R:Z28—-)>70-X B:H¥HEIFLT— (72 -2 ek e
; i 3 | BHEE 1:54.3 1-2-2-4 | #1.1| — 6 452 | BRFE (eiEE)
71717 A—JLXTJ1)X 52.0 11/2 _ THTRE
QAY—O-LZ BTURRIL Y v 0 | fmE s
® I —F—EBIERL
13—F— (56,7),3,(1,6),4,2
2ol=7r= 5,7,3,1,6,4,2
Jol=5r= 5,7,3,(1,4),6,2
43—F— 5,(1,3),(4,7),6,2
[ N3
BB 4 230/ 714K 1-4 140/ B = 1-4 210 3EHE 1-2-4 490M
8 B 4 130M 2-4 350M B H 4-1 560/ K31 4-1-2 2,170M
1 120M 1-2 350M

ABICOVWTRDTEEERROODE. TR LIV,




